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總體2004/下     第一次考試     班級：           學號：           姓名：

Williamson Ch 7-8  (2004/4/15, 9:10-10:50 am)           

Total:100 points
I. 單選題Multiple Choices (40 points, with 4 points for each question)

注意：答案請寫在選擇題最後一題下面的答案格上。

選擇題答案請寫在下面答案格上：

1) In Romer’s endogenous growth model, an increase in the fraction of time accumulating human capital

a) increases the growth rate of human capital and increases the growth rate of output.

b) increases the growth rate of human capital and decreases the growth rate of output.

c) decreases the growth rate of human capital and increases the growth rate of output.

d) decreases the growth rate of human capital and decreases the growth rate of output.

2) In the Golden Rule steady state, the marginal product of capital is equal to the

a) savings rate plus the population growth rate.

b) population growth rate plus the depreciation rate.

c) depreciation rate plus the savings rate.

d) savings rate divided by the marginal product of labor.

CH9
3) In response to a temporary increase in government spending, the representative consumer consumes

a) more and takes more leisure.

b) more and takes less leisure.

c) less and takes more leisure.

d) less and takes less leisure.
CH9
4) In response to a permanent increase in government spending, the permanent income hypothesis would suggest that, to a first approximation, consumption demand should

a) be unaffected.

b) fall by less than the increase in government spending.

c) fall exactly as much as the increase in government spending.

d) fall by more than the increase in government spending.

5) In an exogenous growth model, growth is caused by

a) capital accumulation.

b) government policies.

c) human capital accumulation.

d) forces that are not explained by the model itself.

CH9
6) The assumption that current-period consumption demand is positively related to the real interest rate is justified as long as the

a) income effect dominates the substitution effect.

b) substitution effect dominates the income effect.

c) representative consumer is a borrower.

d) representative consumer is a lender.


7) In the steady state of Solow’s exogenous growth model, an increase in the population growth rate

a) increases output per worker and increases capital per worker.

b) increases output per worker and decreases capital per worker.

c) decreases output per worker and increases capital per worker.

d) decreases output per worker and decreases capital per worker.

CH9
8) The equilibrium effects of a temporary increase in total factor productivity include

a) an increase in the real wage and an increase in the real interest rate.

b) an increase in the real wage and a decrease in the real interest rate.

c) a decrease in the real wage and an increase in the real interest rate.

d) a decrease in the real wage and a decrease in the real interest rate.

CH9
9) When drawn against the real interest rate, the output supply curve is upward sloping because labor supply is

a) increasing in the real interest rate and labor demand is independent of the real interest rate.

b) decreasing in the real interest rate and labor demand is independent of the real interest rate.

c) independent of the real interest rate and labor demand is increasing in the real interest rate.

d) independent of the real interest rate and labor demand is decreasing in the real interest rate.

10) For the production function, 

[image: image1.wmf]64

.

0

36

.

0

N

zK

Y

=

, if measured output is , measured capital input is 
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b) 
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c) 
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d) 
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選擇題答案請寫在下面答案格上：

	1.
	
	2.
	
	3.
	
	4.
	
	5.
	

	6.
	
	7.
	
	8.
	
	9.
	
	10.
	


II. Numerical & analytical questions (Total: 60 points)

答案請直接寫在題目卷上。
(計算題請寫計算過程，只有答案不計分，式子正確但計算錯誤部分給分。分析題請說明過程。)
CH9
1. Tom lives on an island and has 30 coconut trees in the current period, which currently produce 180 coconuts.  Tom detests coconuts, but he can trade them with people on other neighboring islands for things that he wants.  Further, Tom can borrow and lend coconuts with neighboring islands.  In the coconut credit market, a loan of 1 coconut in the current period is repaid with 2 coconuts in the future period.  Each period, Tom’s trees produce, and then 30% of them die.  If Tom plants a coconut in the ground in the current period, it will grow into a productive coconut tree in the future period.  At the end of the future period, Tom can sell any remaining coconut trees for 1 coconut each. When Tom plants coconuts in the current period, he plants them in successively less fertile ground, and the less fertile the ground, the less productive is the coconut tree.  For convenience, we will assume here that fractions of coconuts can be produced by trees.  Output in the future period, for given numbers of trees in production in the future period, is given in the following table.  Please determine Tom’s optimal quantity of investment, and explain your results. (15%)
	Trees in production in the future
	Future output of coconuts

	20
	154

	21
	158

	22
	161

	23
	163

	24
	164


CH9

2. In 1999, there was a 921 Earthquake in Central Taiwan.  Capital stock was destroyed because of this natural disaster.  Please use diagrams to determine this effect on aggregate output, employment, the real wage, the real interest rate, consumption, and investment.  Explain your results. (15%)

3. In the Solow growth model, suppose that the marginal product of capital decreases for each quantity of the capital input, given the labor input.  Show the effects of this on the aggregate production function.  Using a diagram, determine the effects on the quantity of capital per worker, and on output per worker in the steady state. Explain your results. (15%)

4. To answer the question whether the poor countries will catch up with rich ones, please answer the following questions:

(1) Is there convergence in the levels and rates of growth of per capita income in the Solow growth model?  Why or why not? (9%)

(2) Is there convergence in the levels and rates of growth of per capita income in the endogenous growth model?  Why or why not? (6%)
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